Problem 8.14
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For each of the frequency response plots (A, B, C, D, E. F), determine which one of the following
svstems (specified by either an H(z) or a difference equation) matches the frequency response.
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Problem 8.16

Gemeral commarts:

(V) Pole-2esws Ploh ﬂj_é. #2 are for FIR
fiders because all poles are at z=4

(*) F'reb. Respowses A L L have wawy zeps
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Problem 9.2
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The 12-pt running sum {ilter has {ilber ey :

%bn’%: S[l,l,l,... ‘% (Twelve ones)
@) The i“"P:‘"sc respowse Win) cwomsinks of twelve omes.
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Kb) The “:‘Tf‘bl)en(\j mpﬂ’f
C-D'V\‘h\h‘s a ”Dif'lf.h‘e*‘" Form'.

whew x[w)= e.;‘wv* , the ovtput is:
)’b[-"] =H (e;m) es""/«

H(ejt:a)= e-j"':"/z. s (6D)
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(€) When the input sigwa| x[x] h3s a s+arl\"
at n=0, the filter exhibits a #transient’ over phe

jow 0=ncil. For Nzl +he ootput Caw

time

pbe determined by using He Fre%umj respomse, as
in p(m* (b) — we jost toke the real part.
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Yel#l = O

Real Part of yb[n]

#2414
—81.0
[-ol.o

l-o——
——92.41
»—a241
w810
1.0
——92.414
—=02.414
-2 1.0
—_—
—
—9
-9 1.0
b—=e2.414




Problem 9.7 (more)
(@) Tn +his case, +Hhere are 4we “+ransient™ resioms
otn<c il amd 20%<nc< 3.
For n<o awd n=3) +he ou+Pu+ is zeso.

Tn the ‘steady-state’ negion N<n <20, we

gd He sawme cuwswer as paat (b).
ylnd=0 for n<e oo n=3
)’4['\]=-2-6'3e“"‘4'w’) for lenczo

The real i imaginary pants of y[n) are plired.
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